HARAES 17GRBE)

[#h T KAE]
80
co | — [k — T AT (FE) ‘
.40
E L, | AR EER —3.6m FrERREEREE-9.9m |
o KA
E oo | s |
EE 50 P SR S A T W e " £ d € BARL i
Ik
= /
2 40t
= R+ —RE#EE 2.0~ —10.5m
= 60
FHBREES 9.9
-80 /
-100 i m } fof-t-4 -+ s P ‘\ \\‘ | nm | MI T T ; | il
oo Wbl Ll
HP410 2510 HRB10 H2710 H2B10 H2910 HB010 R11G0  R210 R340 R410  RS10 RGO
M FAKALIEBEROZENETAHoN S, EREEL T —2.0mATE TH S,
[#hTFKiE]
50
- — [k 2 hFACR1T ORE) SR |
| ) ) R3.7.27 Ft#RERE
40 H26.10.16. 5188 %55% #E=—9.9m
35 | #&%E‘;—Q,Qm —_ +—3.6m
waEL
. 3 ¢ § i & H X % k *
o ) g 3 » i it /
T 3 % 4 #e 3
B f : 'A' A L Y] P ! 3
T o0 ! & DN ) ¥
15 : = ¥ | 1 ‘
10 k e { i
: - { ol 2 X X -:-" E
5 % < % E
0
H2410 H2510 H2610 H2710 H2810 H2910 H3010 R1.10 R2.10 R3.10 R4.10 R5.10 RE.10

500

1 450

1 400

350

300

250

1 200

500

1EE —3.6mfTHENKEIFEMEELTIEC~21°CREETHY. AHMEINRHLND, RURELLELT

Bta2n AE—UH N5, 125 —9.9m ikl 19°CRIE TH S,

HEEKE (mm /B )

HEKE (mm /B )

[ESCEE]
10000 500
— (N S ERICEEI7GRE)

9000 450
e . o \ H31.3.20 ECEH R 0~
§7000 RERKEEE 30mS/mLATF T= 3 6m.—.—9.5m 250 9

£
E 6000 300 g
N - - =
% 5000 H2_(i.10‘16‘a*§§?§f£ L 250 8
it Z5—9.9m | — —3.6m Gl %
IR 4000 oon ¥
o] o

3000 150

2000 100

1000 ‘ 50

o] m "‘l“ m 1“ Hﬂl\‘\ll" ‘h .m ! ‘l‘.‘l‘llH“
Hz2410 H2510 H2B10 H2710 H2B10 H2910 H3010 R1.10 R2.10 R3.10 R4.10 R510 RE.10
[KEHHEER]
KELHHER
B H26 | H28 | H30 [ H30 | H31 | R2 | R3 | R7
25 | 225|120 | 226 | 222 | 214 | 25 | 219
SHIER B B | fE | 1B | fE | 1B | E | B | fE KEKEEE | BEAKEEE
B4 [ mg/sL| 9600 | 80 | 140 | 9800 |11370 10710 | 1399014783 200mg/L LI F
-
7k§%‘£;{0/&§ - |79 |69 |68 |77 |78 |72 |71 |71 58 E86LT | 6.0LAL75UT
BEXUZEE |mS/m| - - 69 | 2840 | 3260 | 3070 | 3900 | 3910 30mS/mEATF

-BRAGEE (LR ERAKBEEERE (B0mS/mZEBIBLIEKIEDIEIETHIELMAFVRELKEKE

EEEZHEBLTEY. BEHELRE ORI E(LBKD

FEITKYIEKIELTNS,

KFRATVREIRERAKEEECEBT HIHEL1HHN. KEKERETIEEERNTHS.




